
Document checked for accessibility. 

Kensington SmartFit Dual Monitor Arm with Crossbar and Handle.

Inside the Box. Labeled Parts and quantities:
A, one. B, one. C, two. D, one. E, one. F, two. G, one. H, one. I, two. J, one. K, one.
L, two, known as M4x8. M, four, known as M5x12.
M-A, two packs of four, known as M4x12. M-B, two packs of four, known as M5x12. M-C, two packs of four, known as D5.
N, six, known as M6x12. O, one, known as 3mm. P, one, known as 5mm. Q, one, known as 6mm. R, one.
One Quick Installation Guide. One Warranty Card.

Register your monitor arm at kensington.com/register.

Attention: VESA mounting compliant. 75x75 and 100x100. 32 inch maximum screen. Rated to accommodate two monitors weighing up to 9 kilograms / 19.8 pounds each.

1. Clamp Installation.
The clamp of Part D can attach to surfaces ranging between 10 to 45 millimeters wide. To open and close the clamp, insert the Part Q Allen Key into the top socket of Part D. 
Turn the Allen Key clockwise to open and counterclockwise to close as appropriate. Once the clamp is secure, slide the Part G cable management channel into the back side of Part D.

Grommet Installation.
Remove the clamp from Part D by inserting the Part Q Allen Key into the top socket of Part D and turning counterclockwise until you can release and remove the bolt and the clamp. 



2. Connect Part B to Part D, ensuring the color codes on Part B are facing the desk. To secure the connection, insert the Part O Allen Key into the limiting screw near the connection joint of Part B, turning clockwise to tighten.

The grommet mount accommodates desktops with existing through-hole dimensions of 10 to 60 millimeters in diameter and 10 to 45 millimeters in depth. 
Alternatively, you can drill a hole that is 10 millimeters or 3/8 inches in diameter and 10 to 45 millimeters in depth.  After removing the bolt and clamp, align the hole in Part D over the through-hole. Place Part J into the hole of Part D and align it to attach to Part K under the surface of the desk.  
Use the Part Q Allen Key to twist Part J until Part K is securely attached.  Once the grommet is secure, slide the Part G cable management channel into the back side of Part D.

3. Connect the base of Part A to the top of Part B. To secure the connection, insert the Part O Allen Key into the limiting screw of Part B near the connection joint, turning clockwise to tighten.
Align the screw holes for Part F with the holes on Part A. To secure Part F to Part A, use the Part N screws and tighten the connections using the Part P Allen Key, turning clockwise.
Attach the Part E handle to Part F by aligning the screw holes using the Part M screws. Tighten the screws using a Phillips head screwdriver, turning clockwise.
Cover the exposed screw heads on Part F by snapping Part H onto the frame of Part F.



4. Attach the Part C VESA mount to each monitor. With your monitor lying face down, align the screw holes on the Part C VESA mount with the screw holes on the back of your monitor. Use a washer, Part M-C, between the mounting place and each screw. Use the appropriate screw length for your monitor, either Part M-A or Part M-B. 
The correct screw length will  provide an exact fit. Avoid using a screw size that is too long or too short for your setup. Tighten the screws using a Phillips head screwdriver, turning clockwise.  Insert the Part I tension adjustment screw into the hole on Part C, turning clockwise.

5. Using two people to lift, attach each monitor by sliding the Part C VESA mount into the track on Part F of the monitor arm.  After sliding the Part C VESA mount onto the track, locate the hole at the end of the Part F monitor arm and use a Part L screw and a Phillips head screwdriver to secure the track. Turn the screwdriver clockwise.

6. To properly balance the arm with monitors mounted, adjust the spring tension using the Part Q Allen Key as follows: Insert the Part Q Allen Key into the Part A socket near the connection joint of Part A and Part B.  Position and firmly hold the Part A arm horizontally. Ask for assistance should you require it.  Part A should be perpendicular to the surface of the desk.

CAUTION: To avoid damage to monitors or mount, always keep the arm in a horizontal position while making adjustments. 
Again, ask for assistance if required. If the arm drops, turn the adjustment screw counter-clockwise until it stays in a horizontal position. If the arm rises, turn the screw clockwise until it stays in a horizontal position. 
CAUTION: DO NOT over tighten the screws.



7. Place the cables into the cable management channel. First, use a Phillips head screwdriver to remove the screw securing the cable management covers located on the undersides of Part A and Part B. Next, slide the covers upward to remove them. Do not pry the covers off.  
Then, thread the cables of each monitor through the Part E handle and down the bottom of the Part A and Part B extensions, sliding the covers back on to hold the cables in place. Lastly, thread the cables through the Part G cable management channel on the back of the mount.

8. To limit the rotation of the arm, use the Part O Allen Key to tighten the limiting screw located at the base of Part B. It is the higher of the two limiting screws at the base of Part B. Turn clockwise to tighten. Do not over tighten. The arm can rotate up to 180 degrees. To allow the arm to rotate without stopping, remove or loosen the limiting screw.

9. Use your hands to adjust your monitors. Pull down to tilt down.  Pull from the side to tilt inward.  Switch between landscape and portrait by turning the monitor.  To move your monitors closer or father apart, loosen the Part I adjustment screw, slide the monitor to the desired position, then tighten the adjustment screw to secure.

10. Store all Allen Keys in the slots on the back of the Part G cable management channel for future use.



1. Locate the SmartFit hand chart.  



2a. Place your right hand on the chart to determine which color is right for your proper ergonomic positioning.
2b. Use the handle on the monitor arm to adjust the height of the monitors, aligning the bottom of the handle to the appropriate color.

3. Verify proper alignment.
a. Remove the protective backing from the Part R reflective sticker.
b. Apply the reflective sticker to the center top of the monitor frame.
c. Verify straight eye alignment with the reflective sticker while sitting with proper posture.

For support, visit kensington.com/support.


